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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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large discrepency for begining water status (50:177.0), set to 50 ml.

FERZEBPH (10.25) Ei&%EPH (6.42) RERK, BHTE
FEXREIPH (10.25) S5FMPH (6.5) REKK, BT

FEREIEC (2184.0) 5FMEC (2750.0) REK K, HHRE
LRGEBRIEC (2020.0) 51REFEY (2470.0) REK K, BEE.

EREBPH (10.2) 5igEME (6.2) RERK, FEE.

LRGERPH (10.2) SiRBIE (6.1) RERK, BRE.




G3-1_0, Day=9 (2025-05-21)

WfF—————m——f——Ff g ———F T
e VvG’ERV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET - 400
L300 T
20 247 -
235 0 >
L 200 E
161 K37 -
10 109 =
L 100 &
Warning: lcol [FVI',| "FVO’] missing 28 I
60 5 -0
_ ——at — ME $30
= FRV = maxM
€ 40 - 28
-2 lleee e l<t_d_ -4 - 4“9 |lwe..v.qJo 4] w
— L 26 =
£
= 20
= L 24
[ A T
1.0 22
4
0.8 -
0.6 -
0.4 -
0.2
Warning: lcol ["WC1',| "WC2'] missing
o+
2400 4 TargetEC=2500.0, TargetSetEC=2470.0 —>—  ECBx10%
® ECC
2200 _ ’N ) ) ) ) ) 7N
2000 o ®
° ¢ °
°
1800 - ®
® ® ® ) )
101 TargetPH=6.5, TargetSetPH=6.1 ® L ——  PHB*10%
® PHC
8 -
80 - ] 400
— Bylnit @D13 02:02: ET=184 Fg=180.0 Ro=7.0 —_
£ 60 - 1 2
S . L 300 ©
o 1 o
= 40 - ) & o E
S ; oo [200E
E 1 o
20 I - 100 §
[ =]
Y p—eo——¢ 3
L v e 3 4 5 6 7 8 9 T10 ] 111123114 16178119 21 2]2]23I]L°
L 400
S 2 L I 0 I 0 O 0 I - I ™
S 60 1 c
= ByEt @D9 18:37: ET=240 Fg=210.0 Ro=nan I - 300 2
N ! N
£ 40 : &—o—o | 20E
E o—o—o =
— 20 - 100 §
Y hb—eo—eo—eo—o—o ©
g - Past V=N VN iR 0
881 0 1 2 3 ] 5 6 7 8 9 [ 10 [ 11 [ 12 [ 13 [ 14 [ 15 [ 16 [ 17 [ 18 | 19 [ 20 | 21 | 22 | 23 [ 400
o~ =z| BH | BH | BH | B | B | BB |[25|25|25|2525 %55 B 5 5 5 5| B & 5 il 5 5 >
S 60 1 c
= ByWoFv ED13 02:02: ET=109 Fg=120.0 Ro=4.0 - 300 2
~ ~
“ 1 —_
< 40 I - 200 .E
E l 5
— 20 1 - 100 §
“Woh—eo—¢—e ©
4
1.0 P 4 0
0slBZZ B | B
0.6 -
0.4 -
0.2
0.0
1500 4 —_ a4
[ ) | _obs
—@— PPFD_obs

RH
RH_obs
RHo_obs




34.

34.

33.

33.

34.

33.

33.

33.

33.

28 -

27 -

26

25

24 -

T T
600 800

m=700,m FV0=0

27 -

26

25

24

705 710

54

0_

600 800

m=700,m FV0=0

0_

705 710

26

26

25

25

24

24

33.

33.

33.

33.

33.

33.

33.

33.

33.

32.

m=400, FV0=0

.5 1

.04

.91

.04

.51

.04

T T
405 410

m=790,m FV0=0

26 -

25 H

24 -

T T
795 800

m=400,m FV0=0

400

405 410

m=790,m FV0=0

790

795 800

26.

26.

25.

25.

24,

24.

23.

34.

34.

34.

34.

33.

33.

33.

33.

33.

33.

33.

m=480, FV0=0

28 -

27 A

26 A

25 -

T T
485 490

m=865,m FV0=0

T T
870 875

m=480,m FV0=0

480

485 490

m=869,m FV0=0

870 875

m=620, FV0=0

28

27 A

26

25 A

24

Gé5 650
m=955,n FV0=0

26.5 -

26.0

25.5 A

25.0 -

24.5 A

24.0 -

23.5 A

9é0 9é5
m=620,n FV0=0

34. 2 -

34.0 A

33. 8 -

33.6 -

33. 4 4

620

Gé5 650
m=955,n FV0=0

33. 6

33. 4 4

33. 2 A

33.0 -

32.8 -

955

960 965




